Vital Signs EQUIPMENT DAY�Sketch Exercise No. 1


�


VARIATION of LIGHTING on a WORKSURFACE


(Minolta Illuminance meter, calculator)





�





Your instrument of choice for this exercise is the Minolta T1-H Illuminance meter.  This light meter is a reasonably accurate mid-range instrument with the unusual characteristic of having an extended range going all the way to 99,999 lux.  In use, you must remember to multiply the displayed reading by a factor of 10.  Make sure the sensor cap is in place before turning the meter on because it performs a self-calibration at that time.�


�SKETCH:





For better or worse many lighting designs seek to provide uniform illuminance on the workplane - generally a hypothetical, continuous horizontal plane 30” above the floor.  In the field this workplane is manifest in desks, tables, and counters that host a variety of performance tasks. On these real world surfaces horizontal illuminance, as measured in lux  (lumens/m2), is rarely uniform despite design intent.





Your challenge:





Find the work surface (e.g.; table, desk, or counter) with the greatest variation in horizontal illuminance.





Do this:





1.  Estimate the ratio of high to low illuminance you will find on an variably illuminated corporate workplane.  Just make a ball park guess (1:3, 1:20, 1:100).





Estimated ratio: _____________________








2.  Search quickly for a candidate surface and measure its extremes using the Minolta Illuminance meter. To measure a point, place the Minolta flat on the surface and note the reading without “looming” over the sensor (since it sees an entire hemisphere). Note the value on the meter’s display and multiply by 10 to get a reading in lux.  Draw a plan sketch in the box opposite and note the location of high and low values on the work surface.


�3. Calculate the ratio of min illuminance to max illuminance (e.g.; 1:10) and enter it here:


�Actual ratio:     _____________________





4.  Is the variation in horizontal illuminance problematic for this work surface? Why or why not?


�	





	


